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Part - III
ECONOMICS
Maximum : 80 Scores

Time : 2% Hours
Cool off time : 15 Minutes
/General Instructions to Candidates : ‘ \

® There is a 'Cool off time' of 15 mmutes in addition to the writing time of

2% hrs.

® You are neither allowed to write your answers nor to discuss anything with
others during the cool off time'. ,

® Use the 'cool off time' to get familiar with questions and to plan your answers.

_® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from the
same question itself.

® Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided. '

® Give equations wherever necessary.

® FElectronic devices except nonprogrammable calculators are not allowed in the
‘Examination Hall.
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1. Meeting the needs of the 1. eoall  woeo@es  @oUOeSs
present generation without @AW lOBROMES CWdalles)
compromising the needs of the Aflee MR GOETIE EMOED
future generation is called ......... % ®RIOIOWOS BYOUYENBR MloeGm
a) economic development QM6

. a) qLoMUETE Qlld:mmo
b) social development
b) momjadie: allemmo
c) sth \/
c) ooudle allemmo
d) economic growth ' (1) d) momiedle gty

2. The following data shows the 2. a&moo b an@IOMBOQRO]
marks obtained by six students Goqfloes 6 allapdmdlidas ey gom
in Class XI for a class test. osqul@ eldlal 00R3LNIBB ®mOOY

6)B:0S BT B,
Students | Abhinav | Najaf | Amruth | Leena Anand | Sruthi
Marks 70 90 - 40 50 68 80
Calculate the Arithmetic Mean maoame mowie (Arithmetic Mean)
of marks. (2) 6120151865

3. ‘The economic policies pursued 3. ‘pomywies momiewle allemmo
by the colonial government in a@mmﬁm&mmﬁ enfigend aqvomuEmle:
India were concerned more with ®oefaloyEmWdes) HVINED M B0
the protection and promotion of Vo0 S B9 Y8 @ Yo 6a1QId
the economic interests of their agm@ofloymy i@ (enllSiad
home country than with the OO @ mydem] )
development of Indian economy’. qUOMIETTIS MWo.’ '
Critically evaluate the short- efigladd” od:08g06ml@ @oEMETIIES
comings of the agricultural and @MIUBOBD 24380100M 0D
industrial policies pursued by QO UMW el
the colonial administrators. (3) GalodWadd afladnmosndenoel

el oy,

4. Distinguish between primary 4. (owale wogow;e allallm wogowe
data and secondary data with ®omlengs QUI®IOMo  HBIANTEM-

- examples. (2) Madl®o QUYBMAOBE)Hs. '

5. Government introduced so many 5. @oal(@yo 100 BN B> ag)em
poverty alleviation programmes Bl EMDOSYHYS] waemead
with an aim to reduce poverty in mleauwl  eGodl@y mldmodsrm
our nation. al@lalosle®@® @paladadiofigiens.
Mention the various poverty omyeid msqflenssio  aflalw
alleviation MeASUres 30d1(3y MRMOdBRM al@laids]e8-
implemented in India. (5) D0Y0 2 DI

2
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6. Complete the following chart: (2) | 6.  ®oee emosjevldles;m a0bg
o I EENGIE Y (2)
Sources of human capital ,
oMaly GIRILMETTION §OOlSERE.
ooy oy oy T T T3
On t}_le'JOb coelledisofle)ngs
Training aIdideime
7. A data on the annual profit of a 7. &0, Sruriees aodadie: eoseom
firm is given below : moniawleemm  owog @06
EYBHOSIOTNI O
Year 2002 2003 2004 2005 2006 2007
‘Udato
Profit 60 72 75 65 80 95
I0@0 '
Draw the Arithmetic Line graph 008Ul (N0al (R6So aUlTimy’
~ (Time Series graph) for the data. (2) (0ad) QURWE6. (2)
8. Make three pairs from the 8. ®oey  esos30mlclenymaed
following. amlomgo @30My erow o8
(Fiscal Policy, Spearman, Index TV S1D6) 0.
number, Taxation, Rank (adlVee@  mwo, alledzid,
Correlation, Laspeyer.) (3) HDWSB M MUY,  Mle
2NAEM@, 008 edo0leaaxnd,
elomiaflwd.) (3)
9. Development of infrastructure « 9. momiams gdojwlene
and economic development go aflemmeonieye ader (womacw
hand in hand. Can you prepare B0y algH0ern @OSIA0Mm TV IGOYETBR
a report on 'the relevance of QUaOlHOM@. MOTUETIH fld:m
infrastructure for the economic OETIE @SIOOM  AVVQYETBOS
development of the nation'? (mamlowenolal 60y Oleqods
(Areas to be:covered : Economic DYOOIBNIERI?
and social infrastructure, energy oheg{sjeamens coEeIR -
sources, power sector and health (coomiamie: mImgany rams%mao@
sector.) (8) MVHOYEBR, ©VdHR HOMNSEEW,
HOMBYE TDEUE!, @YBRBOUI GAsUR) (8)

OR

Prepare an article on the major
challenges that India faces in the
health sector.

(Areas to be covered : State of
health infrastructure, role of
private sector, urban-rural
comparison, women health, etc.)
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10. Write the economic term : 10. @omyEwoRIEO® MOMIEME: WIM®
T : AIBOQLI®IE:
Privatization of the public sector 44
o ) Hald®mIEDEULID uAd Al M e (D
undertakings by selling off part IeOtAITBEee Mo Eonaow
of the equity of public sector PAOMEDEIBD  UADAIMETBEIOS
undertakings to the public. (1) 890001 B R auye;omyzmsuemf&m‘
OOEBAROOM (alBslw. (1)
11. The blood groups of 35 students 11. wslemoando @O%’IQE 35 O.ﬂG()O@‘(E}Dr]
of Class XI are recorded as HEOS OBMNJafiR Mg i@
follows : ®OOY OBOSIOTT @ISO
A |B|O AB | Btve A |O|/B| A [BrvelO|[B|[AIO|O]O |
B+ve | A | AB A A B+ve | O |AB|B+ve| B A|lO|BlA|B
: |
Represent this data in the form 7 WOROWPS B8Ry EDALIET-mlo
‘of a frequency array table. (4) ISl ®PYOOOHE) . (4)
12. Cumulative frequency curves 12, mei®mony@sl aldho @cl@ea]s;m
are called ............ @ e .
va) histograms a) adleguoindo
b) ogives b) esal
¢) frequency polygons ¢) @DOET iR
d) frequency curves (1) d) @oaEm oo 1)
13. The following table shows the 13. a0 @owu@lld 8o udado
ages of the patients admitted in lateuulafleeym croudlea1es oo
a hospital during a year. - @O OMHISYOTT LY.
Age (in years) 5-15 15-25 . 25-35 35-45 45-55 55-65
(0o (UBdaH®T@)
Number of patients 6 11 21 23 14 5
BEOUIIHIOS ag)fRo
Find the median age. (4) AWM (IOWo BEMBEOLNH> 1)
K-27 4




14.

15.

16..

Look at the following examples.

Categorize them into formal
sector workers and informal

sector workers.

a) A teacher taking classes in a
school.

b) A head-load worker carrying
a bag of cement on his back

in a market.

¢) A doctor in a hospital

treating a patient.
d) A daily wage labourer
' working under a contractor.
e) A handloom weaver working

1in her house.

f) Nurse in a government -

hospital.

In which country was the great
leap forward campaign initiated

n 1958?
b) China
d) Pakistan

a) India

¢) Russia

Land in India suffers from
varying degrees and types of

degradations stemming mainly

from unstable use and
inappropriate management
practices.

Identify six factors contributing

to land degradation in India.
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14.

15.

16.

®OOY 6HOSIOTANHE HBINOEM

6B BMNIBEH:.

B0alalodls caaIel O®mOFIRIOgE:0
@MV 2I0dld: Coelel O®OFILIEw:!D
ag)(MlEmBeOMm @@ @B6))b:.

a) 8] V') 81 @

GOOSIONYM.

@OWIOallds

b) ey 2305 e®FIens] By 2106
o

2OOMNIOBIENE BaldB.

SHeMIogOmca WD

c) &0 eUI@IRleel GWIRsd 6o}
COOOW aldlerdulenymy.

d) 81 eomMd(Sos0es S
czgoefll aa.;c%(r‘n dlauaw eumm

O®0I08].

e) &80} 66Hemcl emOFIens mymo

afiglad emodiad eaigyom.

f) ery waumeand @ i@aieel

v

MYy,

®06% aloammalenmauic ofe
0L BAOEHOW BB ajl0 1050

1958 @ @ooElg@?

b) eeaim

a) eomy

c) 0035() d) asosslunomd

av2/lojadoiogloemoie muolongo

EHOIROW  HalCWOIWo @}elo
soomyefos agy alloflw eoewleyss

@oa 2 lowaY aflewndel a@loym;.
omylee agrle) @aloiwewim’
&HOVEMAIBIM @DO LAV @Y™ (D

@Bl oOlems &yGla] ®QO00LEH:.
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17.

18.

19.

126

Calculate  the standard 17. ®oee omidsenm aloesmeslog
deviation and coefficient of odeawdas’ aslafle@anmyo €0
standard deviation for the agyanlauy(d  B0al QRO e W’
following distribution. (8) aflafle@aymyo &H06MId:. (8)
Marks 20-40 40-80 80-100 100-120 120-140
No. of students 3 6 20 12 9
OR @R gEad
Calculate the range and quartile ®o6¢ ®mldleanm al®eemosiong
deviation for the following - goemije Modgeicd allafieaxmyo
distribution. ' 61301106
Wages 20-25 25-30 30-35 35-40 4045
No. of workers 2 10 25 16 7
"Tn India, the land reforms lead 18. ‘spomyiad @Jal®lad & oMo
to the abolition of owyudEE®:e8  BFA0BH&HD0
intermediaries and el asmlows o Mmadesiseilad
redistribution of land among g0 lreMo MSEBWEe O2UDTY.
tillers Of the SO;lr. an m@']LQJO@Gmos“ m’]mo’b
Do you agree with this @Il EOHMEENSO?
statement? Justify your answer. (3) DOm0 MPWBEEOS. (3)
Scatter diagrams show the 19. eeodicaiaxen Byry0alade:00n06m
visual presentation of MB0Qd Ww®(o.
correlation. a) eaomiglal maenenimwo emmFlAl
a) Draw scatter diagrams MadeTIaWo agyomiad
showing positive correlation mozallafleeim migogd wmoe
~and negative correlation. QUOWBS.
b) Point out one example each b) sasomiglal M a6 W EDIM o
for positive correlation and omnglal  maneuqwemlmio
negative correlation. (3) OGO HBIADREMEDLITIH. (3)
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20.

21.

22.

23.

Development of rural areas is

Aessential for India's overall

development.

Give a suggestion for further
development in rural areas in
India.

(Hint : Rural credit, organic
farming, agricultural marketing)

Find the odd one and justify ifour
answer.

‘a) Consumption, production,

Investigation, distribution.
b) Presentation, conclusion,
inflation, bibliography.
¢) NCERT, UGC, ICMR, AICTE

While explaining the features of
globalization, your Economics
teacher says "outsourcing is one
of the important outcomes of the

globalization process".

Examine how outsourcing helps

Indian economy.

Correct the following

statements.

a) Mode is the middlemost
items of a series.

b) Non-sampling errors can be

| minimized by taking small
samples. ‘

c) Data represented through a
histogram can help in finding

graphically the median.
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3)
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20.

21.

22,

23.

HMYWWIOS
Aflacomansial (»ooemaes Allerme

A e®mOmela0w

@R@IOCLCDYMOET).
MIWIOS  (NOdlem  COeILIWOS
AflBmEmIMOIQ] qyadslalioaow
MRCEUEBD ag)PImd:.

(jaime:i - (wodlem UO@al,
OORAUDJaH], (Woalem  BHOBaH B

Qflasemmo)

iaflEd ©ROQSOEM® 663 ET
006Mo ANloBRIHE) .

a) §ale®do, O® aldoBMo,

@RCMayemo, Qllmoemo.
b) @ocumeemo, ©aloandwo,
MIeMWea|®alo, MOV,

¢) NCERT, UGC, ICMR, AICTE

@YEUOZOUBH06METNONR (0GB, -

08891012  aflndleclesemion
mleBRINs B6EEMOalBr @MU flde,
alo@mMy. “SUgEIOFMilowy ag)oma
AYEDIFAUB HAEMATN OB @MADO
aneImdem”’ ag)om.

8738MIYMlowd  agEBem@oem’
HAMYMD  MMIGAUIUIMNO® (VNI

SOIMOBN alBEUOUW 6B

®OOPYOWIM (A BOUM B B16S

OORMDHRD @loyomss.

a) 80y oWelmleR awyemleyes
Maoildleaio emou.

b) momAglowy @LI06®W88
OOPPBBR HH0WUBO0M O 2I0W
momige R qufled ool omd
OENQOB0. '

c) odlawlwem
m1dep 1 e60ad

(oanlees
anleEyo (oo
MaDNIQSHAMOENT.
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25.

26.

126
24. Compare the development 24, omy, ©62Im, aldBIMO0M e
experience of India, China and OBYEMBEIOS Ul IVMOMYB O EB3 LD
Pakistan with reference to gmmoald agdal, G.D.P., oleeal
demographic indicators, G.D.P., URday), MOMIETE: al@lade:006m0,
growth rate and development Allemm OEmaB®R ag)MIAU@IOS
strategies. 3) @SIOOMETIC @OAmAYo Ol E
oﬁe;mﬂrégmgoe,. (3)
Complete the following on the 25. ®mmiges maIm@es @eslcadm
basis of hints given. omidd  ®oey  caldomlges
' DO 18618
a) Green Revolution — é b
Agriculture a) andoalgjaio — dhyadl
Golden Revolution:.......... midem Qflgyalo: oo, .
b) Statistics in singular sense b) egeaiaimedlad  aqooelfiso
— Statistical methods V006 B@OR BB
Statistics in plural sense a0l mEm@ Mool
c¢) Population - Aggregate C) GaldqpEelndM® — I06UlEHaOW
from which data are to be @oem]autemED@ GLeldlHHeq]
collected in a statistical BSEN3IM M) MVERIWo.
enquiry.
qamry OO — (3)
Sample :............... 3)
Calculate the simple aggregative 26. ®00¢9 §&OSIETIALOM MVOWMEDR
price index for the commodities gios loalld @pEnFIAl HflaIm
given below. (2) enMwH (simple aggregative
price Index) &e6MEHIH6D:. (2)
Commodities A B C D E
" Base period price 10 15 30 25 40
Current period price 20 20 50 30 60
8 2,84,800




